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:— (1) Attempt All questions.

(i1) Figures to the right indicate full marks.

(iit) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

Answer any one of the following questions in 500 words : [20]
(i) Explain fully the Marshallian approach of consumer surplus.

(i) What is Pareto Optimality ? Examine the conditions of Pareto
Optimality.

Answer any one of the following questions in 500 words : [20]
() Explain critically Arrow’s Impossibility Theorem.

(i) What are external economies and diseconomies ? Explain their

significance in economic welfare.
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3. Answer the following questions in 250 words each (any #wo) : [20]

(i) Explain the issues in interpersonal comparison of utility.
(i) Explain the Compensation criteria.
(iiz) Evaluate the Bergson’s Social Welfare Function.
(iv) What are the externalities of production ?
4.  Write short notes in 100 words each (any four) : [20]
() Issues in Income Distribution
(i) Production Optimum
(Ziz) Community Indifference Curve
(iv) Marginal Cost Pricing
(v)  Cost-benefit Analysis
(vi) Hick’s Consumer Surplus
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o :— (i) ®Wd Wy dEan

(i) ISEherd 3% YU IO gEifedra.
(fii) I AHKI 0T HEYS G
(jv) SERFF d° Foh AHA hIal.
(v) HEWHE @ TUST EAULTH TR
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4.

WAy HIAE Tehl U= 500 ¥egid SR forer . [20]
(1) SN= SvEHEdl YHAE  fedhTcHe WSSO L

(i) W@ dEdl A0 SeEdl v ? 3N hedmdid ™Y el TS
G AR

Greflel g9 Yedshl 250 ¥R W feRl (e g [20]
(i) STAIMTeA TRl qordia e T .

(i) wRfad Ry T F:9

(iii) oA AT WHEINGE  FHeAwT HEArd HedHdd .

(fv) SGATAT gl hioedl 3ed ?

TI®T 100 V= e few fowr (foeE wmw) [20]
@) SO faueErda TEeEn

(ii) ScaEA AT

(fii) 9GSl FHHHATEE  oh

Gv) Hor g= fohAd R

(v) TE-a fageo

(vi) Terae SuviEaA= ST
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